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Part 1 (Botany)
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4. Why is apple called a false fruit ? = :

SizoEe Y WS T (@ W2

5. How many types of artificial asexual reproduction found in plants ? Which type-l of .“"I-"’_'-" b
plants showing grafling ? | 2
Sfere ox =rre T SITH o (oI e Gl e Sfewe e afm oz .
Or /G4 g = R
Describe the SIgmﬁcancq of éeﬁaﬁépmduétiéizf*m : 23
Sfge Cﬁ?ﬂw—fﬂ"mf‘jﬁﬁﬁnm R Seam etV S S e
6. D 1 ate:%:uemeen chemlcal and blologlcal orlgm af Ilfe - ok f PR LR T

iy E
- o
I - -
- . -
" f . ] f . -
1 -
2 - 4 — & e 1
= g s & e _— » 7 -p " |
y 4 - - w T
) - i = b L S
i ¥
- ¥ - - ; [ ] }
F ’ - - # .
S . z " 1 5 : i - . -
I -, » r
H
[ r. | 4 ’




I ‘ () / Q49
3

What is algal fertilizer 2 Tow does it help in agriculture |
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What is the full form of ‘ELISA’ ? How does it help in detection of discase ?
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Differentiate allelopathy and antibiosis.
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[1. Discuss about the technique of hybridization.
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Discuss about the chemical evolution of life, 3.
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13 What is ‘SCP" 2 Write about advantages of SCP. | +2=3
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What is toupotency ? How does it help in plant propagation ?
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4. What is embryo ? Describe with suitable diagram about the development of embryo in
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(b)  Typhoid fever can be confirmed by test.
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(b) Name the amino acid which fails to convert to tyrosine in thylkatonuna.
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b) How is the translation of mRNA terminated 7
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/c)  Why the father never passes on the gene for haecmophilia to his son ? 2
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td) How placenta is formed ?
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(1) Explain the Gause competitive exclusion principle.
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Qtate three goals of human genome project.
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Describe the mechanism of infection by HIV. 3
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What is DNA fingerprinting ? State its apphcauﬁns L .'“.f..l,:-:‘z i,
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